KbicKalwla kebenTy
doopmynanapsbi.




KTIH KOCbIHObICbIHbIH
UblPpMaCbIHbIH)

appatbl:

(a-_l-bK)3=a +2ab+b?

EKI epHeKTIH KBagpaTTapblHbIH
aublpMachbil:

a’-b%= (a-b)(a+b)



KTIH KOCbIHAObLICbIHbIH
acblHbIH)KBagpaTbl:
atb)’=a%+2ab+b?




S

25f2-20fz+42%=




a’-b*(a-b)(a+b)

@Z

)=4x°-16y?

m2d2- 9k2_1zc




1)(0,6a -0,1b)? =

=(0,6a)?-2*0,6a*0,1b+(0,1b)? =

0,12
= 0,36a2-‘b+0,01b2

2) (7x+3y)(7x-3y) 4@-(}()2 J=R&GA9Y” = 4927 9y
/



TYPIHAE >Ka3blHbI3:

H 2X X9He y-TiH KOCbIHAbICbI
MeH aubIpMacCbIHbIH, K

 EKI ©pHEeKTIH 3a XX9He 5b-HbIH

aublpMmacbl MeH KOCbII-—

KebeuTiHAici.

» EXi @pHeKTiH 7a )KGHQF
KOCbIHAbICbIHbIH KBa :

 EKI ©pHeKTIH 5a Xo9He
KBagpaTTapblHbIH au

 EKI OpHEKTIH XXoHe (6b—242L







pMynaHbl KOnAaaHbIHbI3:

X+ Y T
-
+ (8d-K)(8d+k)=]

. (O,Za+0,5b)(0,§b-0,2a)=ﬂ T

e 25m*-4k? 4

J






